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Ranked question 

Ranked questions calculate the average ranking for each answer choice so you can determine which answer 

choice was most preferred overall. The answer choice with the largest average ranking is the most preferred 

choice. 

The average ranking is calculated as follows, where: 

w = weight of ranked position 

x = response count for answer choice 

x1w1 + x2w2 + x3w3 ... xnwn 

 
Total 

Weights are applied in reverse. In other words, the respondent's most preferred choice (which they 

rank as #1) has the largest weight, and their least preferred choice (which they rank in the last 

position) has a weight of 1.  

For example, if a Ranking question has 5 answer choices, weights are assigned as follows: 

• The #1 choice has a weight of 5 

• The #2 choice has a weight of 4 

• The #3 choice has a weight of 3 

• The #4 choice has a weight of 2 

• The #5 choice has a weight of 1 

We apply weights in this way to ensure that when the data is presented on a chart, it's clear which 

answer choice is most preferred. If your audience chose the answer of 0 on the Ranking question, any 

0 responses will not factor into the average ranking. 

Take this example question, with ‘only 4 users’  in the audience. Some persons give only 1 answer, 

some 2 and some 3. 

The ‘Goede Scheids’  is ranked highest, based on 2 times a rank 1 and 1 times a rank of 2
nd

 choice, 

given it 10 points by 3 users.  
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Dataset: 

 

 

                                                 

 


